Warre Hive Construction
Wednesday, April 20, 2011





A basket of designs, screws, pencils and some safety gear. 




Gluing up boards for the five boxes in my hive unit.




Boards all cut out, 10x (312mm x 306mm), 10x (356mmx306mm)




 HYPERLINK "http://i803.photobucket.com/albums/yy317/topbarsam/Warre%20Hive%20Build%20Along/settingup-rabbits2.jpg" 
[image: image4.jpg]




 Setting up the saw for cutting 10mmx10mm rabbets.




 Cutting the rabbets, watch the digits, remember to count them before and after each cut!




All the rabbets cut.




 HYPERLINK "http://i803.photobucket.com/albums/yy317/topbarsam/Warre%20Hive%20Build%20Along/box-assembly1.jpg" 
[image: image8.jpg]







 HYPERLINK "http://i803.photobucket.com/albums/yy317/topbarsam/Warre%20Hive%20Build%20Along/box-assembly3.jpg" 
[image: image10.jpg]





 

 All five boxs, my design is closer to a box then warres original is, I added 46mm to the original hight. 




Next time I will show you the construction of the base and stand, and later the quilt and outer cover and frames (I use frames but NOT foundation, warre used both frames and just top bars, either are possible without modifying the box). The handles are just 312mm x 32mm blocks glued and screwed onto the box sides.

Warre Hive Construction II
Sunday, April 24, 2011




Warre hive quilt box, 351mm x 351mm x 140mm slightly smaller then the box sizes, remember to account for the thickness of the wood you are using by making the inside walls shorter for thicker stock or longer for thinner stock.




Warre hive quilts use two pieces of cloth one is attached to the quilt bottom the other is loose covering the top bars, I put a screen between them to prevent the bees from chewing all the way through into the sawdust. I inset the screen to get the quilt as close to flush with the top box as possible.




 The second cloth is loosely tacked inside to prevent the sawdust from escaping.




Filled with sawdust, needs topping up, I might need to mix with cedar shavings, this is just from cutting the wood for this hive, nothing is wasted! 

Next time I will show the construction of the lid for this hive. Happy Easter everyone!

Warre Hive Construction III
Monday, April 25, 2011




The finished product should look something like this. I modified a design I found online, warres original design used an all wood sloped roof. This design incorporates a screened vent for exhausting excess moisture without drilling any complex sloped holes too keep the rain out.






The box is cut out and assembled first, 410mm x 410mm x 160mm. The the roof pieces are cut out fitted and marked for placement, slates are 450mm x 140mm, the small one is a bit of left over from making wide boards. The box is placed upside down on the slats then they are adjusted until 20mm is protruding on all sides and center slat is in the center, then mark the box position inside and out. This gives you a drilling guide and allows you to clamp the slats into the exact position you set them up in.




After drilling the slats clamp them to the box and drive screws in, I use deck screws #8 1-3/4" they are cheaper and hold better in soft woods. Do NOT glue boards down just use screws.




All the wooden parts are assembled.




The reason I didn't use glue is so I can run some window screening under and around the slats like so. Just back up the screws for the main two slats and remove the small middle one. This is to screen the space between lid and quilt as well as outside.




Now cut a square of galvanised steel 496mm x 496mm




Clamp and center the sheet of steel.




Once the sheet is centered tighten clamps and bend one side down. Now measure and punch a hole in the center with a nail then drive a screw through this hole I used #8 5/8 dome head screws for this. Starting from the center of the lid work your way towards the ends screwing down the steel.




 HYPERLINK "http://i803.photobucket.com/albums/yy317/topbarsam/Warre%20Hive%20Build%20Along/lid-assembly-11.jpg" 
[image: image26.jpg]




When you get to a corner cut so that you can fold one side over the other to make a nice safe corner. After this is done you are finished your new lid! Next time I will show you how to build the base and stand.

Warre Hive Construction IV
Wednesday, April 27, 2011




Underside of the base, base is 354mm x 354mm about 4mm shorter both ways then the boxes, this allows for less water leakage from the boxs above, the landing board is protruding about 20mm with a 120mm x 15mm slot cut above it into the main base board, I placed a matching support board behind the landing board between the side supports, in hopes that the weight of the hive would be more evenly distributed.




Levelling the stand, since I am not using foundation I need the hives as level as possible so here I pre-drilled the legs (I'm using #8 2.5" deck screws) and then clamped all four legs to the stand, then I jimy tap and measure until the stand is level with a flat surface, tighten the clamps, check level again, then drive the screws. The stand is comprised of 8 lengths of raw un-dressed cedar 2x4's measuring 2x 570mm, 2x 280mm, 4x 250mm, for the outer sides, inner supports and legs respectively. Last but not least I will cover building frames from scratch.

Warre Progress
Wednesday, July 6, 2011




I looked into my warre hives yesterday just for a progress update, #5 is moving down into their new box (shown on the left), their old box is probably almost three quarters full of honey. When I removed the fabric cover I saw honey comb and drones, a sure sign that they are storing honey in the upper box (drones love to hang out around honey comb), the frames were hard to move so I don't know how far they have moved their broodnest, this box was the deeper kind so the frames are harder to manipulate. This proves that bees will move down if given room bellow, I believe they move whatever way is open but they prefer storing honey above their brood, I also observed virtually no bearding during our plus thirty days with the hive in full sun all day and with humidity close too eighty percent, even the smallest top bar hive I had last year would beard to the point it looked like all of the bees were outside, I think a bottom entrance helps the bees cool their hives better, this plus the way my outer lids are designed gives an air space below the wood and above the quilt.
  
When I started building warre hives I didn't want to cut frame shoulders so I use set screws, an unintended side effect of this is the frames get less glued together since the screws are the only parts of the frame that touch. With my new frames I started pre-drilling the set screw holes in each frame to give a uniform placement, in the above picture you can see all the screws are placed in the same position. I place the set screws in the side of each top bar at the ends where the "bee-space" between the frame and the hive body wall are. This prevents the problem of screws gouging comb when removing frames, it also allows the bees to crawl under the screw into the rabbet between frames, so nothing can hide there eg, wax moth or hive beetle. The picture above is with the new set-screw placement and the one bellow is with the old placement.

Hopefully all this doesn't sound like bragging, I am just pleased that this system is working so well, I love innovative simple ideas especially if they mimic nature at her finest!



Shown right is the old brood box getting filled with honey, notice the comb is closer together then brood comb, this is very similar to what you would see in a feral hive. There is hope for a honey harvest this year!

By Sam Smith at 11:45 AM

Labels: bee routine, bees
